
SAP ABAP table VMVSTAT {Generated Table for View}

VMVSTAT

MANDT [CLNT (3)]

INTRENO [CHAR (13)]

STAT [CHAR (5)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SMENR [CHAR (8)]

VERKT_WE [CHAR (8)]

VERKT_ME [CHAR (8)]

SMVART [CHAR (4)]

SMVANART [CHAR (1)]

SKAUTART [CHAR (1)]

BUSAB [CHAR (2)]

SNKS [CHAR (22)]

KUNNR [CHAR (10)]

SPARTNR [CHAR (10)]

GSART [CHAR (3)]

PRCTR [CHAR (10)]

MABER [CHAR (2)]

PROFL [CHAR (6)]

KOKRS [CHAR (4)]

MANSP [CHAR (1)]

KBK_PARTNR [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 VMVSTAT-PRCTR = CEPC-PRCTR 
0..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 VMVSTAT-KUNNR = KNA1-KUNNR 

0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 VMVSTAT-SNKS = ONR00-OBJNR 

0..N

1

SPRT1

MANDT [CLNT (3)]

PARTNR [CHAR (10)]

 VMVSTAT-KBK_PARTNR = SPRT1-PARTNR 

0..N

1

 VMVSTAT-SPARTNR = SPRT1-PARTNR 0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VMVSTAT-BUKRS = T001-BUKRS 
0..N

1

T001S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BUSAB [CHAR (2)]

 VMVSTAT-BUSAB = T001S-BUSAB 
0..N

1

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]
 VMVSTAT-MANSP = T040S-MANSP 0..N

1

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]
 VMVSTAT-MABER = T047M-MABER 0..N

1
TIV18

MANDT [CLNT (3)]

SKAUTART [CHAR (1)]

 VMVSTAT-SKAUTART = TIV18-SKAUTART 
0..N1

TIV26

MANDT [CLNT (3)]

SMVART [CHAR (4)]

 VMVSTAT-SMVART = TIV26-SMVART 

0..N

1

TIV27

MANDT [CLNT (3)]

SMVANART [CHAR (1)]

 VMVSTAT-SMVANART = TIV27-SMVANART 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 VMVSTAT-KOKRS = TKA01-KOKRS 

0..N

{0,1}

TKB1A

MANDT [CLNT (3)]

APROF [CHAR (6)]

 VMVSTAT-PROFL = TKB1A-APROF 

0..N

{0,1}

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VMVSTAT-GSART = TZPA-GSART 

0..N

1

VIMI01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SMENR [CHAR (8)]

 VMVSTAT-SMENR = VIMI01-SMENR 

0..N

1

 VMVSTAT-VERKT_ME = VIMI01-SMENR 

0..N

1

VIOB01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

 VMVSTAT-SWENR = VIOB01-SWENR 

0..N

1

 VMVSTAT-VERKT_WE = VIOB01-SWENR 

0..N

1


